, person crosses 250 metess wide 1.

road fn 75 seconds. What is his
speed in Km/h 7
5
(B)
(C) 1250
® 15 .
3/ A can complete any work in 6 1
days and B completes in 9 days.
If they start working together then
in how many deys will\it get
finished 1
(A) 7.2
(B) 5.4
(C) s;.ﬁ I
3 jm The value of (256" = (256" 3.
- :
(A) 236
By 64
(C) 16
Dy 4 .
4, A sum of morey &t eompound 4,
inferest becomes-Rs. 650 af the
end of ane year and Rsc676 al the
end of the second year. The sum
of money 15 &
 (A) Bs 600
’ (B) Rs 540
(C) Rs 613
(D) Bs. 560

%

Ramesh purchased an item and 3.

eamed a profit of 153% After
sclling it in Rs, 2817.50, What is

(A)
®)
©)

D).

(A)
(B)
()
(D)

TF =iEa 250 el WS uoew
75 dFEw F oW WA § A
=R @ Behan TRR T

gt 2

10
12
12.50

15 -
A e w0 F 6 B A T B
g BF & WA W UEAT g
af dwt o 5w e AR

A frae Bt TAn & T

§
12

54

36

3

et = et o AvEr
resrereion BVEAT ]

236
fi4

16
4

wrgfor T # Fiw A e
= I i AL
T E T AT 676 5 FEEh 7

600
7. 540
7. 625
. 560
T W OWE R T 6. 261750
CEECELBER Rl sl

the cost price of the ftem ? Gy bl ahaL

(&) Rs.2500 (&) 52500

(B) Ras 2450 . (B} %2450

(C) Rs 1550 | }

> i @JVV acapemy
s Sl BN - B POATEL - -

SILDNSTRELE »HEwhl



4

(A)

If Weeta's gulary is, 23% moie
than Priya’s Salary, then by what

ccent priva’s salary will be less
than Neeta's salary )

15%

(B 20%

(€)
(D)

/

(A)
(B)

©)
(D)

(A)
(B)
()

S
Q.

(A)
(B)
(C)
(D)

25%

is digtributed among
A, B, C and D in the ratio of
3:7:0:13 respectively. B's part i%
Rs 4872. What is the total amount
of A and C together? \

An Amount

Rs. 8352
Rs. 6998
Rs. 9784
Rs. 7456

fn how many years 8 sum of
money will become 4 times at 6%

simple Interest per annum 7

49 Years
58 Years
52 Years
50 Years

(A)
(B)
(©)
(D)

(A)

(<)
(1)

(A)
(B)
(C)
(D)

()
(B)
(C)
(D)

uﬁﬂmﬁﬁiﬁ‘ﬁqﬂ,ﬂaﬂTDﬁ
0.3 & yEma A

A AR C 3 wr Hr e g
fapasr uler ge ?

5, 8352

¥, 6998

¥, 9754
F, 7456 |
ey @l & g AU IR
ﬁamﬁﬂ?mﬂwmﬁtﬁr
S o 4 T FE 7

49 99

sgad

s29%

soad



10,

will be Sompound Interes; 1,
Of Rs, ﬂﬂﬂmﬁ'}'&puum“m for
2 years 7

' (B)
Rs. 63030 '

(C)
(D) Rs. 535 (D)
11. FindthuHC.anlﬂﬂﬂ,‘lHﬂand 11
3600, '
(A) 380 (A)
(B) 340 (B)
4 (C)
20 (D)
. - 025 fogo | 12.
. \m ® J;E 15 equal to ;
ws (A)
i
B .1

' (A)

©

€ o : :
® > ®

16, 1093243 (M=12012-9 16.
(A) 10080 %}j
1080

(B) 1 oL
IB !!ﬂ )

- 3200 # 3 % arfw ax o
mﬂwmmm
?

. 530,39
¥. 53243
. 63030
¥. 535

1-[(5-{2 + (-5+6-2))%
T F41 gy

4

2

o £35)4.%%
.|

g
10932 +3IM=22012-1
10080

X
2ok

ioso

1170
2520



gaxd3+48x49=7

Y ) o

®) 5974
(C) 6964

5964 :
which of the following Number

will be divided by 12 ?

22306
22316
22318

22308
186 x 7 = 14=1302

{A) 98

(B) 92
(C) 88
(D) 84
Find the L.C.M of 24, 30, 36, 60

and 105,

2540
2520

2560

2510

3 4 5

115
105
C) 108
116

(A) 40 Years
(B) 45 Yeqrs
(C), 35 Years

(D) 32 Years

1T

18.

19.

20,

iR

22,

(A)

(B)
(©)
(D)

(A)
(B)

(D)

()
(B)
(C)
(D)

(A)
(B)
(c)
(D)

(A)
(B)
(C)
(D)

(A)
(B)
(C)
(D)

34::#3+4EI49= 7

6064
5974

6964

5064 | _

ey & @ Fiw #@ FEAT 12 T
RAuTsT £ ? :
22306
22316

22318

22308 .
186, 2.7 + 14 = ]302

98
92
88

§4
24, 30, 36, 60 T 105 & FgATH
TA A I I0TAT FY |

2540
2520
2560
2310

TN T I 17 7 gy
40 7§ HIY &= gt o
45 T
35 @

a5 =%"
.



f}; The average age of the 12 players
of the team is 25 years. If the age
of the captain is included, the
average age increases by 1. What
is the age of the captain 7

23,

(A) 25 Years
(B) 38 Years
(G). 36 Years
D) 26 Years

_'-’;'i’- two brothers is 1:2 and 10 years
ago the ratio was 1:3. What will

be the ratio of fheir ages after 5
years 7

(A) 14
By 2.3
) 35
m 59

||||||

2. 91 % of 1ﬂ%=19%ﬁi‘ 25.

(A 7

@) 49
() 133
(D) 38

The ratio of the present age of 24

(A)
(B)
©
(D)

LA)
(B)
(C)
(D)

(A)
(B)

()
(D)

12 farenfear & A 3 2578
¥ | o Foaw o g S
sy T i g 1 9 R 9
S &, & Feaw 6 I F
Bl 7 .
2589

38 &

36 T
26 &Y
& gl i FoEe g
agm;rl:zhﬂnﬂﬂqsﬁrﬁr
¥ 13 A A g A Ay
WIS W F ag Fb
g 7

1:4

2:3

35

59

102 F91% = ... 7 19%
7

49

133
38

-
1"‘.[-"5 )

- L Y



ningful sentence:
E (b) GOOD (c) VERY
d) LOOOKS (e) PICTURE

Bleat (A) chaed
{E;:_: Howl . (B) baede
(C) Grant (C) aedch
(D) Bray (D) dcbae
3. Ten miles ......... a long way to 38 Make a meaningful sentence :
walk, (@ FAILED (B)ME (c)TO
(d} THEY (¢) NOTICE
(A} are (A) daceb
(B) is (B) hdace
{C) arenot (C) ecbda
(D)  are being () acebd
32 E:I:!dlm BRHOY.rrernrer, TV 38, Cup : Coffee then Bowl : 7
grams.
{lg?r ey YL
(©) tlookat T
L (D) Food

Fage & of 10



40. The superlative of “ Far™is:

49,
(A) Farther :

41.

43,

44,

43,

= v o i,

VV A

47,

(D) Farthrest
(B) Ambitious
42, Find the correctly spelt word
(C) Rehabilitation
(&) TParachute
(D) Parashoot
(B) Gynaecology

- The meeting is put .......... because
(B) off

Synonyms of “Wander™
(C) Roam
(A) Curtail
(D} Retail
48,

(B) Misfortune

(B) Farest
(C) Farthest
Antonyms of “Fictitious” 50.
(A) Real :
(C) Unbelievable
(D) Imaginary
(A) Pronounciation
(B} Repercution x
(D) Tution
Find the correctly spelt word
(B) Parachutte
(C) Parashute
Find the correctly spelt word
(A) Gyncology
(C) Gynaeccology
(1) gyneccology
the funds have not arrived.
(A) Im
(C) out
(D) away
(A) Ride Py
Desire @ﬁ
(D) Treat h
Synonyms of “Restrict”
(B} Prohibit
(C) Retain
Synonyms of “Demise”
(A) Death
(C)  Accident
(D) Dismissal

Antonyms of “Despair”™
(A) DBelief -
(B) _Trust .
(C) Hope
(D) Faith

Antonyms of “Expand”™
(A) Conftract
(B) Contrast
(C) Consist
(D) Controvert
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